[ ReconstructedAllAssoc2Gen_X | [ ReconstructedAllAssoc2Gen_Y |
*x10

i<10. - - - Entries 50861 C - - - - - - Entries 50861
| = . |Mean 0.105 .. . . . . . Mean 0.015
50 - N N N N . |.Std Dev 0.000133 50 - : N N N N . |.Std Dev 0
- N N N N N H H H | - N N N N N N H |
B Entries 50877 o Entries 50877
B : U A oo L vean 0.105 T U A v I Mean -0.015
A0t " stdpev_ 0000133 Y R i A A A T 0
L N N N N N H H H L N N N N N N H |
F Entries 50485 F : : : : : + | Entries 50485
ro: : : : + | Mean 0.105 ro: : : : : + | Mean -0.015
30__ """ . A 7Y P std Dev0.0001407 30__ """ . A TTTTITTTTIT Std Dev 0
201 e 20+ :
10F-+ oo o Ty R S A
g ' r
o [ [
1 »
0.95 o N N N N 1 N N N N 0.95 o N N N N N N N N N
0 0.020.040.060.08 0.10.120.140.160.180.2 —0.%0.090.080.0+0.060.050.040.030.020.01 0
Reco vertex pos x (cm) Reco vertex pos y (cm)
m—— DQM_TT_original
=== DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24
|E0:1§ m— DQM_TT__mod_modelsdeep_something3
Entries 50861 Entries 50861
z SOL ) . L L : . | Mean 0.1025 %000 Mean 1.248
L] Std Dev__3.135e-05 Std Dev 3.961
L] : T | : : I
B Entries 50877 Entries 50877
40 r1.: Mean 0.1025 4000 Mean 1.248
L] Std Dev__3.135e-05 Std Dev 3.96
L Erlnries l l50485 lEmries l 50485
B ' ' Mean 0.1025 . .| Mean 1.25
30 1" | std Dev _ 2.225¢-05 3000 Std Dev 3.957
20f|iovri oo b b 2000
10|+ 1000
o +Opyd o +0
I E I
o L |: o
= 1
0.95 o 1 N N N N N N N N 0.95 N ! N 1 N
0.10.110.120.130.140.150.160.170.180.190.2 =30 -20 -10 0 10 20 30
Reco vertex pos r (cm) Reco vertex pos z (cm)
[ ReconstructedAllAssoc2Gen_NumVertices | [ ReconstructedAllAssoc2Gen_NumTracks |
- Entries 1000 = _ Entries 50861
5 . T T T T T T T T T T T
- | : : : : : : | Mean 52.61 5000Hg--=+----- LR LR [ A + . Mean 26.05
< | .. O . w....Hl.... stdDev 8.045 3 B : : : : | .Std Dev 24.13
0.1 N N N N N H H H | r H H H |
: Entries 1000 T Entries 50877
L Mean 52.66 18 Mean 26.07
- Std Dev 8.078 4000_ Std Dev 24.15
0.08 e — i e
: : : Entries 1000 1 Entries 50485
L : : Mean 52.24 1 Mean 25.28
0.06 il S Lstd ey _7.921 3000:' """""""""""""" Std Dev_ _23.23
0.04 -+ eboebe bt 2000¢ :
0.02f 1000 ;
o OF l l IIII :
5 12F -t
o [ ] H I
i L ﬁ: # LR R CRCRREIERRE IO S| SRR cf NN SO Soos SOt A £
Lo LT + L ogbi i T
10 20 30 40 50 60 70 80 90 100 0 20 40 60 80 100120140160180200

o
s

Number of reco vertices Number of tracks in vertex fit



	Contents
	Page 1


